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prompt> ipv6 if 
 
Interfaz 4: Ethernet: conexión de área local 

usa unidad de detección de equipos cernamos (neighbor discovery) 
utiliza descubrimiento de enrutador 
dirección de capa de vínculo: 00-03-47-cc-30-6d  
preferred link-local fe80::203:47ff:fecc:306d, duración infinite 
multidifusión interface-local ff01::1, 1 referencias, no se puede 

informar 
multidifusión link-local ff02::1, 1 referencias, no se puede informar 
multidifusión link-local ff02::1:ffcc:306d, 1 referencias, último 

informe 
vínculo MTU 1500 (vínculo MTU verdadero 1500) 
límite de saltos actual 128 
tiempo accesible 41000 ms (base 30000 ms) 
intervalo de retransmisión 1000 ms 
transmisiones DAD 1 
(…) 

prompt> ipv6 install��

�
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prompt> ipv6 help 
 
Uso:  ipv6 [-v] if [ifindex] 
       ipv6 [-p] ifcr v6v4 v4scr v4dst [nd] [pmld] 

 ipv6 [-p] ifcr 6over4 v4src 
ipv6 [-p] ifc ifindex [forwards] [-forwards] [advertises] [-

advertises] [mtu #bytes] [identificador-sitio] [preference P] 
 ipv6 rlu ifindex v4dst 
 ipv6 [-p] ifd ifindex 

ipv6 [-p] adu ifindex/address [life validlifetime[/preflifetime]] 
[anycast] [unicast] 

ipv6 nc [ifindex [address]] 
ipv6 ncf [ifindex [address]] 
ipv6 rc [ifindex [address]] 
ipv6 rcf [ifindex [address]] 
ipv6 bc 
ipv6 [-v] rt 
ipv6 [-p] rtu prefix ifindex[/address] [life valid[/pref] [preference 

p] [publish] [age] [spl] [SitePrefixLength] 
ipv6 spt 
ipv6 spu prefix ifindex [life L] 
ipv6 gp 
ipv6 [-p] gpu [valor de parámetro] … (vea -?) 
ipv6 renew [ifindex] 
ipv6 ppt 
ipv6 [-p] ppu prefix precedente P srclabel SL [dstlabel DL] 
ipv6 [-p] ppd prefix 

 ipv6 [-p] reset 
 ipv6 install 
 ipv6 uninstall 
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prompt> ipv6 if 
 
Interfaz 4: Ethernet: conexión de área local 

usa unidad de detección de equipos cernamos (neighbor discovery) 
utiliza descubrimiento de enrutador 
dirección de capa de vínculo: 00-03-47-cc-30-6d  
preferred link-local fe80::203:47ff:fecc:306d, duración infinite 
multidifusión interface-local ff01::1, 1 referencias, no se puede 

informar 
multidifusión link-local ff02::1, 1 referencias, no se puede informar 
multidifusión link-local ff02::1:ffcc:306d, 1 referencias, último 

informe 
vínculo MTU 1500 (vínculo MTU verdadero 1500) 
límite de saltos actual 128 
tiempo accesible 41000 ms (base 30000 ms) 
intervalo de retransmisión 1000 ms 
transmisiones DAD 1 
(…) 
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8��� ��� �-��� �� ���$���� ���� ��	�	�	�� ���� $�� ������ 3�!40� ����� �-��� �����
�� ��9 	����� �� ���$���� ���� ��	�	�	�� ���� ����������� � 	�	���� ���
;�����	�� �� S=������ ���"�������T� $���� �-��� ��� ��� :	�;���� ��� ���������
���$��������	�	�	���������������0��

�
IPv6.exe� ��� $����� � 	�	���� $���� ���$��2��� <� ���:	"����� ��������� ��
	� ��:�������	����	�����<��� ���C�����	����!�������D0�

�
�
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�

�
�

�

��$��������$��2������������ ��:���	����	�� ��������$	���3�!4����+�

�

�
�
�

++%��������	����	
������

 ��������3�!40�
�

�A	� ��� � ���� ��������� <� � 	�	������ ����� tracert6�� telnet6�� ftp6��
ipsec6��ttcp6�<�6to4-cfg0�

�
I�� �$�	���	
��net.exe� ��� $������ 	�	����$���� 	�	�	��� ��$�������� $�� ������
3�!40�6�	�	�	������$�� ������3�!4�����������	�����:�� ��8��������	�	�	������
�������8���$���B�����2	��������J���������	� ��:��0��

prompt> ping6 ::1 
 
Haciendo ping ::1  
de ::1 con 32 bytes de datos: 
 
Respuesta desde ::1: bytes=32 tiempo<1m 
Respuesta desde ::1: bytes=32 tiempo<1m 
Respuesta desde ::1: bytes=32 tiempo<1m 
Respuesta desde ::1: bytes=32 tiempo<1m 
 
Estadísticas de ping para ::1: 

Paquetes: enviados = 4, recibidos = 4, perdidos = 0 (0% perdidos), 
Tiempos aproximados de ida y vuelta en milisegundos: 

Mínimo = 0ms, Máximo = 0ms, Media = 0ms 

prompt> ipv6 help 
 
Uso:  ipv6 [-v] if [ifindex] 
       ipv6 [-p] ifcr v6v4 v4scr v4dst [nd] [pmld] 

 ipv6 [-p] ifcr 6over4 v4src 
ipv6 [-p] ifc ifindex [forwards] [-forwards] [advertises] [-

advertises] [mtu #bytes] [identificador-sitio] [preference P] 
 ipv6 rlu ifindex v4dst 
 ipv6 [-p] ifd ifindex 

ipv6 [-p] adu ifindex/address [life validlifetime[/preflifetime]] 
[anycast] [unicast] 

ipv6 nc [ifindex [address]] 
ipv6 ncf [ifindex [address]] 
ipv6 rc [ifindex [address]] 
ipv6 rcf [ifindex [address]] 
ipv6 bc 
ipv6 [-v] rt 
ipv6 [-p] rtu prefix ifindex[/address] [life valid[/pref] [preference 

p] [publish] [age] [spl] [SitePrefixLength] 
ipv6 spt 
ipv6 spu prefix ifindex [life L] 
ipv6 gp 
ipv6 [-p] gpu [valor de parámetro] … (vea -?) 
ipv6 renew [ifindex] 
ipv6 ppt 
ipv6 [-p] ppu prefix precedente P srclabel SL [dstlabel DL] 
ipv6 [-p] ppd prefix 

 ipv6 [-p] reset 
 ipv6 install 
 ipv6 uninstall 
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�
Net.exe� �	�$���� ��� ���;��� ��2���������� ���� ���� ���-�� ��� ���
��"���� ���<��$�	����0�
������	� �����$�������$��<�� �������	"�	�� ��+��

�
�

�
�
�

>0�0%0>0 I	��A�
�

I����98�	������$�������������$��<�� ������
0G0�I	��A�:������	�� �������
���������	� �	2��	�����6��N� �F0��<�$�� ��	����� ���������������0�

�
� RedHat 9.0:  kernel 2.4.20-8 
 Fedora Core 2:  kernel 2.6.6 

�
��2����	� �	2��	����� 	����<������S���	�T���$�� ��3�!4�����������
�����
���������������8�������� ���������	��������$	���	
�������������$�� 	��������
���� :��� ��� C��� �������	��� �	�$����� ��� ���$	���� ��� ��$�� �� 3�!4� �����
�
������ ���� �B�� $�� 	����� ��� ���� :��� ��� ������$���	�� ��� �� �����
�	� �	2��	
�D0�

��
��2����	� �	2��	���������S"������T���������� 	���8�������_��������!����	
��
��� ��� %_�� ���� ��� 8����  �� �� ��� �� ��� ���� ��� �	��� ��	��� C�2	���	
�� ��� ����
:	�;����� ��� ���:	"����	
�D� ����� ���� ���2���� ��� ���� �	����� ��� ;���
��� ��	��0�

�
�	�"���� ��� ���� �98�	����I	��A� �� ��2�� ������
�
��� ���� ��� 8��� ���:���
�������	�� ��� 	�� ����	
���	� ������:	"����	
������	�"J����: E������	�	����0�
SradvdT�

�
����� �� ������J�	����$������������	���$����������:	"����	
�����3�!4����B��+�

�
%0 �'��	�����:	�;����S/etc/sysconfig/networkT�

�
NETWORKING_IPV6=yes 

�
�0 �'��	����/etc/sysconfig/network-scripts/ifcfg-eth0��

�
IPV6INIT=yes 

�

��	���������������Sifconfig –aT��C�8�B�!�������������	� ��:���eth0�
��� 	����;�2	�	 ����3�!4D+�
�
�

net stop tcpip6��
��������$�� ������3�!4�<����������"����������	�0�
��

net start tcpip6��
3�	�	�����$�� ������3�!4������������8����� ��$�����0��

�
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I�� !���	
�� ������ ��� �� �� $��<�� �� ��� ���Solaris 2.8� CSunOS 5.8D� 8���
!	���� ��� S���	�T� ���� ��$�� �� $���� 3�!4� 	� �"����0� G2!	���� �� ����
!���	����� $�� ��	�����  ��2	��� ��$�� ��� 3�!4� ��� :����� �� 	!�0� ����� ���
�A$�	���������$�	�����$�� ������� ��	�:������A	� ���!��	���$��	2	�	�����������
;����������:	"���������	����	����	�� ��3�!4����������8�	��������	��������

G� 
����	�0� I�� ������ $���� ��� $��<�� �� :��� ��� �����	����� �� �*
���:	"����	
�0�

�
����������"�	�+�

�
* 7� ���	���� ��� ���2��� ��� ���� 	� ��:����� ��� ���� ������� 8��������  �����

�	����	����	�� �� 3�!40� ��B� $�������  ����� lo0�� hme0�� elx10� 000� C�	�
�������� S#ifconfig –aT� $��$���	���� ��� ���2��� 8��� ���� ��� ��8�	���
$������:��	����������	� ��:�����������D0�

�
* ������ ��� :	�;���� !��B�� 2�-�� ��� �	��� ��	�� /etc� ��������

hostname6.nombre_del_interface� C��B�  ����B����� $��� �-��$���

eth0      Link encap:Ethernet  HWaddr 00:B0:D0:F3:5E:40   
          inet addr:193.144.34.136  Bcast:193.144.34.255  
Mask:255.255.255.0 
          UP BROADCAST RUNNING MULTICAST  MTU:1500  Metric:1 
          RX packets:70681549 errors:0 dropped:0 overruns:20051 frame:0 
          TX packets:76979404 errors:0 dropped:0 overruns:0 carrier:0 
          collisions:0 txqueuelen:100  
          RX bytes:88645778 (84.5 Mb)  TX bytes:2715091311 (2589.3 Mb) 
          Interrupt:16 Base address:0xecc0 Memory:fe2ff000-fe2ff038  
 
eth1      Link encap:Ethernet  HWaddr 00:B0:D0:F3:5E:41   
          inet addr:193.144.36.137  Bcast:193.144.36.143  
Mask:255.255.255.240 
          inet6 addr: fe80::2b0:d0ff:fef3:5e41/64 Scope:Link 
          inet6 addr: 2001:720:1210:e:2b0:d0ff:fef3:5e41/64 Scope:Global 
          UP BROADCAST RUNNING MULTICAST  MTU:1500  Metric:1 
          RX packets:16731438 errors:2 dropped:0 overruns:0 frame:2 
          TX packets:3812373 errors:0 dropped:0 overruns:0 carrier:0 
          collisions:0 txqueuelen:100  
          RX bytes:2628372523 (2506.6 Mb)  TX bytes:1682028974 (1604.1 Mb) 
          Interrupt:17 Base address:0xec80 Memory:fe2fe000-fe2fe038  
 
lo        Link encap:Local Loopback   
          inet addr:127.0.0.1  Mask:255.0.0.0 
          inet6 addr: ::1/128 Scope:Host 
          UP LOOPBACK RUNNING  MTU:16436  Metric:1 
          RX packets:139450032 errors:0 dropped:0 overruns:0 frame:0 
          TX packets:139450032 errors:0 dropped:0 overruns:0 carrier:0 
          collisions:0 txqueuelen:0  
          RX bytes:402722033 (384.0 Mb)  TX bytes:402722033 (384.0 Mb) 
 
sit0      Link encap:IPv6-in-IPv4   
          NOARP  MTU:1480  Metric:1 
          RX packets:0 errors:0 dropped:0 overruns:0 frame:0 
          TX packets:0 errors:0 dropped:0 overruns:0 carrier:0 
          collisions:0 txqueuelen:0  
          RX bytes:0 (0.0 b)  TX bytes:0 (0.0 b)�
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/etc/hostname6.hme0D0�H���:���������	�������;������� ���������������
��������Stouch`���C t̂ouch /etc/hostname6.hme0D�

�
* 6�	�	�	������������	��SndpdT�CNetwork Discovery Protocol DaemonD�

��"��9����$��:	-��3�!4�������$���	�� �������
�
���<�����9����:���� ���4"
��
�'$
������&��5�������
�-����CEUI-64D�$������	"���� ���������$���	�� ��
�	����	
���3�!4����	� ��:���������	�����0�

�
�� �+� I�� �� �� $��� ��:�� �� 8�����9�  ��2	��� �� �2���	��� ��� :�����
�� ��9 	��0�
�
H��$�����9���������	��$����8������� ����98�	����������DNS�$����2������
�98�	���� ���� �	����	����� 3�!4� ���9� �'��	�� �� ��� �� ����� SipnodesT� <�
S�
	
	T� ���� :	�;���� ��� ���:	"����	
�� S/etc/nsswitch.confT� ��� ���!��
SdnsT�
�
��B�� ������������/etc/nsswitch.conf�

�
hosts:   files  dns 
ipnodes: files  dns  

�

��	���������������Sifconfig –aT�

�

�
�
�

>0�0%0�0 N�*HO�
�

N�*HO� %%	� !0�� $��$���	���� ��$�� �� �� 	!�� 3�!4� ���� ���� �	"�	�� ���
����� ��B� 	���+�
�

* 7�2���$	���3�!@#3�!4���������$���	 ��8��������$�	���	�����3�!@��� ������
��������	 ����������	:	�����0�

* %��������� 3�!4�� 8��� :��	�	 �� �� ���� �
	
	� 3�!@#3�!4� ����� ��� ���� � ����
�
	
	�3�!@#3�!4���2���������3�!@��A	� �� ��0�

* �� ����:	"����	
���	���� ��������	����	�����3�!4�
* ������	�	�� �����7����2�	�	�� ��������	���C)�����
��1�	�
����D�3�!4�

C8��� 	����<�� �����2�	�	�� �� ��� �
�
��� <� �� ���	
�� ��� �	����	�����
��$�	�����D0�

* =��#H7����2���3�!4���?=H!4��3�?�!4��3�!4�?3W��<���3�����	
���
	0�
* H 	�	������������:	"����	
��<��������	
�����$��2�������������$����3�!@���

3�!4+� ifconfig�� netstat�� ping�� route�� ndd�� ndp� C��� ��������
neighbor-discovery��
���$����3�!4D0��

lo0: flags=1000849<UP,LOOPBACK,RUNNING,MULTICAST,IPv4> mtu 8232 index 1 
 inet 127.0.0.1 netmask ff000000  
hme0: flags=1000843<UP,BROADCAST,RUNNING,MULTICAST,IPv4> mtu 1500 index 2 
 inet 193.144.44.10 netmask ffffff00 broadcast 193.144.44.255 
lo0: flags=2000849<UP,LOOPBACK,RUNNING,MULTICAST,IPv6> mtu 8252 index 1 
 inet6 ::1/128  
hme0: flags=2000841<UP,RUNNING,MULTICAST,IPv6> mtu 1500 index 2 
 inet6 fe80::a00:20ff:fea2:e27d/10  
hme0:1: flags=2080841<UP,RUNNING,MULTICAST,ADDRCONF,IPv6> mtu 1500 index 2 
 inet6 2001:720:1210:c:a00:20ff:fea2:e27d/64  

�
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* ��� :	�;���� netconf-ipv6� ��������� ���� $��9�� ���� ��� ���:	"����	
��
3�!40� ��� :	�;���� ��� ���:	"����	
�� /etc/rc.config.d/netconf-ipv6�
���������	�:�����	
��������:	"����	
���������:������	�	���������8������
� 	�	��2��������:	�;����/etc/rc.config.d/netconf�$����3�!@0�

* ��� :	�;���� /etc/hosts� ��$�� �� �	����	����� 3�!4� �� 3�!@0� �� �� :	�;����
��� 	���� �	����	����� 3�� ���� ���� ������$���	�� ��� ���2���� ��� �
	
0� ���
���;	!��$�������� ������	����	�����3�!@���3�!4�$��������	�����
	
0�����
�-��$��+�

�
15.15.15.15  hpindon 
3ffe:1111::1234 hpindon hpindon6 

�
* ��� S)���� �������� ���
��T+� /etc/nsswitch.conf� ��� ��� :	�;���� ���

���:	"����	
�� $���� ��� S����� 	������� 	��
��T0� H��� ���!�� �� 	����� ����
ipnodes�� ��$��	:	��� 8��� ���!	�	��� ��� ���2��� ������!��� ���� ���2���� <�
�	����	���������
	
0��

�
7�2��� �������������� �������	"�	�� ����	�	 ��	����+�

�

* setparms����;���	�����-������$����������:	"����	
��3�!4�
* I	�	 ��	
��������
��
��+����������	���������
�
���8��������	��$��:	-����

�	�"J��	� ��:����9��������:	"����9������	����	�����3�!4��������
	
�����
	� ��:������������:B�	�����J� 	$���0��

* �3
U���3
�<���
������ 9����$�� ������� ������ �����3�!40��
�
�

>0�0%040 ZW
7�C����W
7���� W
7��G$��W
7�
�
�

=����� �� ��� �	� ����� �$��� 	!��� $������ ���� ���:	"����	
�� ��<� �	�	����
$����;�2	�	 ��������$�� �����3�!40�I����$�	�����$����;�2	�	 �������B���������
����� ��� :���	����	�� �� <� ��� :����� ��� ���:	"����� ���� 	� ��:�����
C�� ��9 	��� �� ������D� ��� ���!�� �� ��2�� ������� ��� J�	��� :	�;���� ���
���:	"����	
�� S/etc/rc.confT0� I�� J�	��� �	:�����	�� �� ��� ������ ��� ���
���2�����������$�	�������� �������	�;��:	�;����<�����J�������������0�

�
��B��	���$���	�� ���� ��������:���������$������������98�	����2	��������
�
�
��� �� ����� �� ��	
��� ���9� �������	�� ;�2	�	 ��� C$����� �� Sa�
T� ���
������$���	�� �� �	��� 	!�� ��� ��� ���� :	�;���� ��� ���:	"����	
�D0� �� �� ���
3?�6�
�3�73WI�0�

�

�
�

7���� 8��� ��� ��� ;��� ������ �8�	$��� ZW
7� ����� �� ��� ��� ����	���	
�� ����
$��<�� �� ��� ����� ������� ���� $����� �������	��� $���� ��� ������ ��
���:	"����	
���������������������
GL�0�

�
�

----------------------/etc/rc.conf---------------------------- 
 ipv6_enable="YES" 
  # by default it's "NO"  
-------------------------------------------------------------- 

�
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� ��� 	"���� 8��� ��� ��� ����	
�� ��� �	� ����� �$��� 	!���� ��� ��� $��	2��� ����	���� ���
�� �����  �����<� ������������ ���� �$�	���	����� �A	� �� ���8���� 	�	���� �����	���	����0�
���� ������ ��� �� ��	�� ��� ��� ��� �A����	!���� �� ��� ���� �$�	���	����� �������	��� $����
$��� ������!	�	���������0�

�
�

>0�0�0%0 
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�
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�

* 7����	$�	
��
�

��� ���!	�	��������2���������� ���!	�	����<��:	���	������������$����� ���
���� ���2���� ��� ���� �98�	���� <� ��#�� ������$���	�� ��� �	����	����� 3�0�
7	�;�����!	�	������!���!���������$������3�!4��9��	�$����	��	2����	���2��
����� 8��� ��� ���� �	����	����� ��� %�1� 2	 �� ��� ����� ��� ����� :9�	���� ���
�������������8��������������	����	����	�� ��S$�� 	�����	����T0�

�
�

* 
�$�� ��3�!40����2�������� �� �����<������	����0�
�

H��� ��� ���� ���!	������ ��� ���2���� ��� ���� �9�� �A ���	��� ��� ��� bind�
CEEE0	��0��"D�8�����$�� 	��������!���	
��F� 	����$�������$�� ��$�����������
�����	����	�����3�!40������ ����!���	������� ��	�������� �������	�� �$�	����
���$���;��$�����'��	�������$�� ������	����	�����3�!40��� ���8������8���
��� 7�
� ���  ��"�� ��$�� �� $���� 3�!4�� ��� 	�$�	��� 8��� ��� ���� ��$��� ���
$��$���	���������������	
������	����	�������������	�� ��0�

�
H��� ��� ���� $����	��	������ �� �� ����� ��� ����� �	����	����	�� �� 3�!4� ���
8������7�
���!���!�����$�	�����	�� ���	���	����	�����3�!4���������������
8��� ��2��� ��$������ �� ��� �	�$��	2���0� ��B� $���� $���� ��� ���2��� ���
�98�	��� Sejemplo.cesga.esT�� 8���  ��"�� �	����	
�� 3�!@� <� �	����	
��
3�!4�����7�
���!��!��9����������$���	�� ���	����	
��3�!40�

�
�

* �-��$����������:	"����	
��
�

���:	"����	
��(����!���$��9�� ����<��� �����0�
�

�D named.conf+�������:	�;���������������$��	:	���������$�	�����"��2�����
���� ���!	���� <� ���� :	�;����� 8��� ��� 	����� ���� �	:���� ��� ������
C���	�	��D� <� ��� ������$���	�� �� �������	
�� 	�!����0� ��� J�	���
$��9�� ��� 8��� ��� �������	�� ;�2	�	 ��� $���� 8��� bind� $����� ��$�� ���
������ ��� ������� 3�!4� �����  ����$�� �� ��� Slisten-on-v6 { 

any;};=���� ������options�
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options { 
  //#ident "@(#)cmd-inet:common/cmd/cmd-inet/etc/named.boot 1.1.3.1" 
  //#ident "$header: named.boot 1.2 91/06/26 $" 
  // 
  //boot file for name server 
  // 
  //type domain source file or host 
  // 
  directory  "/etc/named"; 
  // 
  // 
 host-statistics yes;   
 multiple-cnames yes; 
 statistics-file "/var/log/named.stats"; 
 pid-file "/var/run/named.pid"; 
 listen-on-v6 { any;}; // Escucha peticiones por la dirección IPv6 
 notify yes; 
}; 
logging { 
 category "default" { "default_syslog"; "default_debug"; 
   }; 
 channel queries { 
  file "/tmp/query.log"; 
 }; 
 category queries { queries; }; 
 }; 
zone "." { 
 type hint; 
 file "root.hint"; 
}; 
zone "localhost" { 
 type master; 
 file "db.localhost"; 
}; 
zone "0.0.127.in-addr.arpa" { 
 type master; 
 file "db.127.0.0"; 
 notify no; 
}; 
zone "0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.ip6.int" { 
 type master; 
 file "db.0000:0000:0000:0000.ip6.int"; 
 notify no; 
}; 
zone "\[x0000000000000000/64].ip6.arpa" { 
 type master; 
 file "db.0000:0000:0000:0000.ip6.arpa"; 
 notify no; 
}; 
zone "ipv6.cesga.es" { 
 type master; 
 file "db.ipv6.cesga.es"; 
 notify yes; 
}; 
zone "c.0.0.0.0.1.2.1.0.2.7.0.1.0.0.2.ip6.int" { 
 type master; 
 file "db.2001:0720:1210:000c.ip6.int"; 
 notify yes; 
}; 
zone "\[x200107201210000c/64].ip6.arpa" { 
 type master; 
 file "db.2001:0720:1210:000c.ip6.arpa"; 
 notify yes; 
}; 
�
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I�� ���:	"����	
�� ��� ���� ������ S�	��� ��� ��� �A�� ���� �� ��� �	����
 �� �� $���� 3�!@� ����� $���� 3�!4T0� I�� J�	��� 8��� ���2	�� ��� ���
��:	�	�	
����� ������������� ��� �������	
�� 	�!����0��8�B�;�����������
 �� �����:���� ��Bitlabels���Bitstrings� C� ����� �D�<����:���� ��
Nibble bit�C� �����
D�$������$� 	2	�	����8������B������8�	!���� �����
3�!@� �����"������� �0� ���:���� ��2�
�����	� ��� ;�� �����;���� ���� ���
8��� ��� ����"��	
�� ��� �������	
�� 	�!����� ��� $��$���	���� ��� :���� ��
Nibble bit� �� ��$����� �����
������� ����� ��

��
2D �	�;����� ��� �����+� ��� 	����� ���� �� ������ ��� ��� :����� �	��� �� ��

	�!����� ��� ����� ���� ��� ���� ���	�	��� �� ��2���	�	��0� 
�� �����  �� ��
����� �� �4� C�� �� J� 	��� ����"���� �� ���� �A$��	��� ��D� $����
��$��	:	���������	����	
��3�!4�

�
��B� ��� :	�;���� Sdb.ipv6.cesga.esT� ��� 	���� ���� �� ������
������$���	�� ��� $���� ��� ��2���	�	�� Sipv6.cesga.esT0� ��� :	�;����
 	��������	"�	�� ��:���� �0�

�
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$ORIGIN ipv6.cesga.es. 
@ 4h IN SOA atmos.cesga.es. comunicaciones.cesga.es. ( 
  2003061101      ; serial 
  86400           ; refresh 
  7200            ; retry 
  2592000         ; expire 
  172800          ; minimum 
  ) 
; 
  IN NS atmos.ipv6.cesga.es. 
  IN MX 10 atmos.ipv6.cesga.es. 
; 
$TTL 1h 
; 
atmos  IN A  193.144.44.43 
  IN AAAA  2001:720:1210:c:a00:20ff:fe89:62b6 
  IN A6 0 2001:720:1210:c:a00:20ff:fe89:62b6 
router1  IN AAAA  2001:720:1210:c::1 
  IN A6 0 2001:720:1210:c::1 
router2  IN AAAA  2001:720:1210:a::1 
  IN A6 0 2001:720:1210:a::1 
trevize  IN A  193.144.44.26 
  IN AAAA  2001:720:1210:c:203:baff:fe02:8359 
  IN A6 0 2001:720:1210:c:203:baff:fe02:8359 
medulio  IN A  193.144.44.12 
  IN AAAA  2001:720:1210:c:200:e2ff:fe19:f963 
  IN A6 0 2001:720:1210:c:200:e2ff:fe19:f963 
stream  IN A  193.144.44.19 
  IN AAAA  2001:720:1210:c:230:5ff:fe1a:4ca7 
  IN A6 0 2001:720:1210:c:230:5ff:fe1a:4ca7 
sonda  IN A  193.144.44.17 
  IN AAAA  2001:720:1210:c:a00:20ff:fe9f:9cc0 
  IN A6 0 2001:720:1210:c:a00:20ff:fe9f:9cc0 
tambre  IN A  193.144.44.11 
  IN AAAA  2001:720:1210:c:290:27ff:fed3:6490 
  IN A6 0 2001:720:1210:c:290:27ff:fed3:6490 
ftp  IN AAAA  2001:720:1210:e:2b0:d0ff:fef3:5ec8 
  IN A6 0 2001:720:1210:e:2b0:d0ff:fef3:5ec8 
  IN A  193.144.36.138 
windowsmedia IN AAAA  2001:720:1210:e:230:5ff:fe19:719d 
  IN A6 0 2001:720:1210:e:230:5ff:fe19:719d 
  IN A  193.144.36.135 
bream  IN A  193.144.44.37 
  IN AAAA  2001:720:1210:c:204:76ff:fe92:feba 
  IN A6 0 2001:720:1210:c:204:76ff:fe92:feba 
;�
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`db.2001:0720:1210:000c.ip6.arpa`  

 
 

 
 
 

<�`db.2001:0720:1210:000c.ip6.int`�
 
 

 
 

�
6�� ��	��	����8������������ ���� ��	
��������	����	������������������!��� ���
<���������;�������3�!@0���B�$��������98�	���Satmos.cesga.esT� ����B��
���� �	����	
�� 3�!4� S�66�768�67���67666�76�667�6--7-�9:7����;� 8��� ���
���:��������$�� �����B��<�66�78�67���67�7�667�6--7-�9:7����;. 

�
�

• '$ �
�

N����	���!��	����������!	���������ftp�$��2�������������"������$��<�� �0�

$ORIGIN c.0.0.0.0.1.2.1.0.2.7.0.1.0.0.2.ip6.int. 
@ 4h IN SOA atmos.cesga.es. comunicaciones.cesga.es. ( 
  2003061101 ; serial 
  86400  ; refresh 
  7200  ; retry 
  2592000  ; expire 
  172800  ; minimum 
  ) 
; 
  IN NS atmos.cesga.es. 
; 
$TTL 1h 
; 
6.b.2.6.9.8.e.f.f.f.0.2.0.0.a.0  IN PTR atmos.ipv6.cesga.es. 
1.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0  IN PTR router1.ipv6.cesga.es. 
9.5.3.8.2.0.e.f.f.f.a.b.3.0.2.0  IN PTR trevize.ipv6.cesga.es. 
3.6.9.f.9.1.e.f.f.f.2.e.0.0.2.0  IN PTR medulio.ipv6.cesga.es. 
7.a.c.4.a.1.e.f.f.f.5.0.0.3.2.0  IN PTR stream.ipv6.cesga.es. 
0.c.c.9.f.9.e.f.f.f.0.2.0.0.a.0  IN PTR sonda.ipv6.cesga.es. 
0.9.4.6.3.d.e.f.f.f.7.2.0.9.2.0  IN PTR tambre.ipv6.cesga.es. 
a.b.e.f.2.9.e.f.f.f.6.7.4.0.2.0  IN PTR bream.ipv6.cesga.es. 

$ORIGIN \[x200107201210000c/64].ip6.arpa. 
@ 4h IN SOA atmos.cesga.es. comunicaciones.cesga.es. ( 
  2003061101 ; serial 
  86400  ; refresh 
  7200  ; retry 
  2592000  ; expire 
  172800  ; minimum 
  ) 
; 
  IN NS atmos.cesga.es. 
; 
$TTL 1h 
; 
\[x0a0020fffe8962b6/64]  IN PTR atmos.ipv6.cesga.es. 
\[x0000000000000001/64]  IN PTR router1.ipv6.cesga.es. 
\[x0203bafffe028359/64]  IN PTR trevize.ipv6.cesga.es. 
\[x0200e2fffe19f963/64]  IN PTR medulio.ipv6.cesga.es. 
\[x023005fffe1a4ca7/64]  IN PTR stream.ipv6.cesga.es. 
\[x0a0020fffe9f9cc0/64]  IN PTR sonda.ipv6.cesga.es. 
\[x029027fffed36490/64]  IN PTR tambre.ipv6.cesga.es. 
\[x020476fffe92feba/64]  IN PTR bream.ipv6.cesga.es. 

�



�� ��	��������$��2���9 	���������	�$��� ��	
�����3�!4����6���=��� �
�

%� !"� �9"�>%� '���������
�����

�

�
* Pureftpd+�
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�
* Proftpd+� ����� �����"�	�� 8��� � ��$�� �� 3�!4� ��� �������	�� �$�	���� ���

$���;�� �� ���� :��� ��� ��� ��: E���0� 
	�� ��2��"�� �� $�� 	�� ��� ��� !���	
��
%0F0�����$��$���	������$�� ���� 	!�����3�!4�;  $+##$��: $�0�	��A0��0�K#�

�
* Vsftpd+����������!	�������ftp���"������� �2���<��A ��������� ���9$	��0�


�$�� �� 3�!4� ��� :����� �� 	!�� ������ ��� !���	
�� �0�0��
;  $+##!�: $�02��� �0��"#�

�

��;������"	����� ��J� 	���$������������ ��B� 	����<�$��� ��������:	�;�������
���:	"����	
�� ��<� S��	"�2��T0� G$�	����� ����� ���!	���� ��
�	���� ����
�	��� ��	������ �
������S���


���T������ 	!����������	��������	�$����� ��
;�2	�	 �����2�-�������	��� 	!��������:	"����	
�0�

�
�� ��� 	����	
�� ��� ���� ��� ��� :	�;���� ��� ���:	"����	
�� ���� ���!	����
dovecot�CS	
�����
��TD0�
�
�
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# Example config file /etc/vsftpd.conf 
# 
# The default compiled in settings are very paranoid. This sample file 
# loosens things up a bit, to make the ftp daemon more usable. 
# 
# Allow anonymous FTP? 
anonymous_enable=NO 
# 
# Uncomment this to allow local users to log in. 
local_enable=YES 
# 
# Uncomment this to enable any form of FTP write command. 
write_enable=YES 
# 
# Default umask for local users is 077. You may wish to change this to 022, 
# if your users expect that (022 is used by most other ftpd's) 
local_umask=022 
# 
# Uncomment this to allow the anonymous FTP user to upload files. This only 
# has an effect if the above global write enable is activated. Also, you 
will 
# obviously need to create a directory writable by the FTP user. 
#anon_upload_enable=YES 
# 
# Uncomment this if you want the anonymous FTP user to be able to create 
# new directories. 
#anon_mkdir_write_enable=YES 
# 
# Activate directory messages - messages given to remote users when they 
# go into a certain directory. 
dirmessage_enable=YES 
# 
# Activate logging of uploads/downloads. 
xferlog_enable=YES 
# 
# Make sure PORT transfer connections originate from port 20 (ftp-data). 
connect_from_port_20=YES 
# 
# If you want, you can arrange for uploaded anonymous files to be owned by 
# a different user. Note! Using "root" for uploaded files is not 
# recommended! 
#chown_uploads=YES 
#chown_username=whoever 
# 
# You may override where the log file goes if you like. The default is 
shown 
# below. 
#xferlog_file=/var/log/vsftpd.log 
# 
# If you want, you can have your log file in standard ftpd xferlog format 
xferlog_std_format=YES 
# 
# You may change the default value for timing out an idle session. 
#idle_session_timeout=600 
# 
# You may change the default value for timing out a data connection. 
#data_connection_timeout=120 
 
… (continua en página siguiente) 
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listen_ipv6=YES 

… (viene de página anterior) 
 
# 
# It is recommended that you define on your system a unique user which the 
# ftp server can use as a totally isolated and unprivileged user. 
#nopriv_user=ftpsecure 
# 
# Enable this and the server will recognise asynchronous ABOR requests. Not 
# recommended for security (the code is non-trivial). Not enabling it, 
# however, may confuse older FTP clients. 
#async_abor_enable=YES 
# 
# By default the server will pretend to allow ASCII mode but in fact ignore 
# the request. Turn on the below options to have the server actually do 
ASCII 
# mangling on files when in ASCII mode. 
# Beware that turning on ascii_download_enable enables malicious remote 
parties 
# to consume your I/O resources, by issuing the command "SIZE /big/file" in 
# ASCII mode. 
# These ASCII options are split into upload and download because you may 
wish 
# to enable ASCII uploads (to prevent uploaded scripts etc. from breaking), 
# without the DoS risk of SIZE and ASCII downloads. ASCII mangling should 
be 
# on the client anyway.. 
#ascii_upload_enable=YES 
#ascii_download_enable=YES 
# 
# You may fully customise the login banner string: 
#ftpd_banner=Welcome to blah FTP service. 
# 
# You may specify a file of disallowed anonymous e-mail addresses. 
Apparently 
# useful for combatting certain DoS attacks. 
#deny_email_enable=YES 
# (default follows) 
#banned_email_file=/etc/vsftpd.banned_emails 
# 
# You may specify an explicit list of local users to chroot() to their home 
# directory. If chroot_local_user is YES, then this list becomes a list of 
# users to NOT chroot(). 
#chroot_list_enable=YES 
# (default follows) 
#chroot_list_file=/etc/vsftpd.chroot_list 
# 
# You may activate the "-R" option to the builtin ls. This is disabled by 
# default to avoid remote users being able to cause excessive I/O on large 
# sites. However, some broken FTP clients such as "ncftp" and "mirror" 
assume 
# the presence of the "-R" option, so there is a strong case for enabling 
it. 
#ls_recurse_enable=YES 
 
pam_service_name=vsftpd 
userlist_enable=YES 
#enable for standalone mode 
listen_ipv6=YES 
tcp_wrappers=YES 
#chroot_local_user=YES 
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* Apache 1.3.x+�
�$�� �����3�!4��� ��!���������$���;�0������������������
��������3�!4����B�����������2��������� ��������!���	������0�0A�

�
* Apache 2.0.x+� 
�$�� �� 3�!4� �� 	!�� C$��$���	������ $��� ��� $��$	��

�$�	���	
�D0�6����������0�
�

��2����� 9���	�$��	2�������;  $+##;  $�0�$��;�0��"#���������� �����:	�;����
��� ���:	"����	
�� ��� ;�<� "������� ���2	��� ���!�� ���� �����	������� ���� ���
S�������T� ���� ���!	�	�� �� ���� ��  ����� ���� 3�L�� 8��� ��� ���!	����  ��"�� <� ���
���� �����B�������!	������������	2���!B��3�!4�����0�
�
7����8����������!���	��������I	��A���������� ��;�2	�	 ����$�����:�� ��--
enable-v4-mapped �������B���������	���	�"J�����2	�����������:	"����	
��
����:	�;����Shttpd.confT����� ���!	����apache0�
	����2��"����� �	� �����
*BSD� $��� ��:�� �� ��� :��� ���$	����� ���� �� �� �	��� 	!��� ���!�� ��� 	�� ����
����������� 
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� Listen [::]:80 

�

	� 8�������� 8��� ��� ���!	���� ����	
���
	� �	:���� ��� $���� 3�!@� �� 3�!4� ���
;��B��������;�2	�	 ����������	����	�����v4-mapped�<����������:	"����	
��
�������

�
Listen [::]:80 
Listen 0.0.0.0:80 

�
�

• ��>�7#�

���#����8�
�

��� �� �� ����� ��� ��: E���� ������ ;�� �	��� Openssh��
: $+##: $0�$��2��0��"#$�2#G$��W
7#G$��

N#$�� �2��#0� �� �� ��: E����
$��!�����$�� ��3�!4��� 	!������������'���������������8�������8�	���!���	
��
���� 	!���� �����	�� �������$�� ���	��$��2�������"���0��

�
��2����� ������<��-���������$�� ��3�!4�8�����	�����ssh�������!	�	����2������
8������!�����2������ �����$�������:��	����"��	��������B����<����������2���
 ����� 	�� �������	��$�������!���	
������9�����	�� ��$��	2��������8�������
���� �	2���B��� $��$���	������� $��� openssl� ;  $+##EEE0�$�����0��"#� <�
�A	� ���:�����������"��	�������	�� ��������	���������������0�
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• ?*%����;��
�
�

������$�� ������	���"����<�8���$����������	����;�����	������������:�����
�����	����0�I��8������������;�������� ����	��������S��	 ���	T�"�9:	�������
�������	
��ssh��������8��������$�� ��3�!4����$��$���	������$���ssh0��� ���
��$�� ��������:��	����"��	������'�������!�� �-�����$������'��	�����$���	
��
�����������	"�	�� ���;����������;�����2����0������
��������	�����������
�����	���$������������� ��J� 	���:����0�

�
�-��$������� �������� Snetsat –naT����� ��� ����$��� ����� ��������;��<�
�������	������� �2���	���0��8�B�!�������������	������� �2���	�������ssh�
��������	����	�����Sv4-mappedT� ����	����������	 ���	�"�9:	���0�
�

�
�
�

• �3$ �7#������$���������!���"����
��8�
�

7�� ����������$��	2�������!	�������������������;���$��2���������	:���� ��+�
�

* Sendmail+� �� �� ��� ���� ��� ���� �9�� �����	���� ���!	������ ��� ������0�
���$���	���� ��$�� �� �� 	!�� 3�!40� �� �� �	�$��	2��� ���
;  $+##EEE0������	�0��"#�

�
* Postfix+� ��� ��$�� �� ��� 3�!4� ��� ����	"��� $���;������ ���� :��� ��� ����

��: E���0� ;  $+##EEE0$�� :	A0��"#� 0� ��� $���;�� �� �� �	�$��	2��� ���
;  $+##EEE0	$�� 40��"#$�� :	A#� 0� ����� �'��	��� ��� $���;��  ��2	���
$��$���	������$�� ��=I
�C%��� 
�
�0�����������D�

�

����������	�����"��������2	������������:	"����	
�������2������!	������
$���� $����� ���!	�� $� 	�	����� 8��� ����� 3�!4� �����  ����$�� ��� <�� 8��� ���

Active Internet connections (servers and established) 
Proto Recv-Q Send-Q Local Address           Foreign Address         State       
tcp        0      0 127.0.0.1:6010          0.0.0.0:*               LISTEN       
tcp        0      0 127.0.0.1:6011          0.0.0.0:*               LISTEN       
tcp        0      0 127.0.0.1:47956         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:47956         ESTABLISHED  
tcp        0      0 127.0.0.1:48993         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:48616         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:60085         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:32838         ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:60085         ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:32824         ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:48993         ESTABLISHED  
tcp        0      0 127.0.0.1:32838         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:32824         127.0.0.1:6010          ESTABLISHED  
tcp        0      0 127.0.0.1:6010          127.0.0.1:48616         ESTABLISHED  
tcp        0      0 :::22                   :::*                    LISTEN       
tcp        0      0 :::80                   :::*                    LISTEN       
tcp        0      0 ::1:6010                :::*                    LISTEN       
tcp        0      0 ::1:6011                :::*                    LISTEN       
tcp        0     36 ::ffff:193.144.34.13:22 ::ffff:193.144.44.:1023 ESTABLISHED  
tcp        0      0 ::ffff:193.144.34.13:22 ::ffff:193.144.44.:2432 ESTABLISHED  
tcp        0      0 ::ffff:193.144.34.13:22 ::ffff:193.144.44.1:965 ESTABLISHED�
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$��	2��� ���;�2	�	 ��� �� ;�2	�	 ��� ��� :����� ����� 	!�� ���  	$�� ���  ����$�� ��
������3�!@#3�!4������������A	�����;��;���������!	���0�

�
Postfix+�
�

* Mynetworks 
 

I������"���3�!4�������	�	� �������:���� ��[ipv6:addr:range]/plen�
  

* smtp_bind_address6 
 

7	����	
����	"��������������������A	�����STMP����	�� ��0�
 

* lmtp_bind_address6 

�
      7	����	
�������	"��������������������A	�����LMTP��������	�� �0�
�

Sendmail+�
�

DAEMON_OPTIONS(`Name=MTA-v4, Family=inet') 
DAEMON_OPTIONS(`Name=MTA-v6, Family=inet6')����
�

	�����������:	�;����sendmail.mc,���2	����
�
# SMTP daemon options 
O DaemonPortOptions=Name=MTA-v4, Family=inet 
O DaemonPortOptions=Name=MTA-v6, Family=inet6 

�
�

•  ) .@�3� �7$������� ������8�
�

7�� ��� ���� $��<�� �� ��� ;��� $��2���� ��: E���� �	� 	� ��� ��� �� �� ����� ����
�����	����	:���� ��+�

�
* Courier-imap+� W	��� 	� �"����� ����� $�� �� ��� ��� ;������� ��<��� ���

S	��
�T� ��� �����	��� Courier� ;  $+##����	��0�:0�� #� ��� �	� ��� ������"�� ���
�����	�� $��� ��$�������$��!������ ��$�� �� �� 	!�� ���3�!4�����  ����� ����
:���	����	�����0�

�
* Cyrus-imapd+�I�� ��������������������0������cyrus-imapd�$��$���	����

���	�	���!	� ������<���$�� ���� 	!��3�!40�
	����2��"���	�;��!���	
���� ��
����	������� ��� ���	���� 2� �0� �� ��� !���	
�� �� �2��� �0%0%�� ��� �������	��
�$�	���������$���;��$����8���$�����:���	���������3�!4�

�
* Dovecot+�7�����	�� ���$��	�	
��C!���	
���0FF0AD���$�� ��3�!4� ��2	������

:����� �� 	!�0� �� �� ����	������� ��� �����	�� �9$	��� <� ��"���� ���� "����
!��	����� ��� �����	����� ��� �� �� 	���	
��� ����� ��B� 	��� ��<� �����2���
����� 8��� ���  �� �� ��� �������� �� ���� 2������� ��� ������� ��� ���� �	� 	� ���
�����	��0�
��$�����������"������;  $+##��!��� 0$����� ���0:	#�0�

�
�� ��� 	����	
�� ��� ���� ��� ��� $�� �� ��$����� � 	!�� ���� :	�;���� ���
���:	"����	
��$���������: E����dovecot,�Sdovecot.confT0�
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• A+� �7������������ ���
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����"����
��&�
�

OpenLDAP� ��� ���� 	�$����� ��	
�� 
 ��� 	
����� ���� LDAP� C0���
�����
�
1����

�������		���


�
�D0�

�
������ ��$�� �� �� 	!�� 3�!4� <� $��� ���  �� �� ��� ��8�	���� ��� �$�	���� �	�"J��
$���;�� �� ���� :��� ��� ���� ��: E���0� ������ ������"����� ���
;  $+##EEE0�$�����$0��"#0�

�
�

>0�0�0�0 ��	�� ���
�

����� ���$�� ������������	2����������	������$�	���	���������������J��$���$�� ��
��� ���� �����	��0� ��B� $������� ����	��������� ����� �$�	���	����� ��	�� �0� �� �� ��� ����
�����	
��������: E������$������
�

• ��	�� ��� ���  ���	���+� Putty� C��	�� �� telnet/ssh $���� X 	���E�D� (�
telnet/ssh�C��	�� ���$����LinuxD�

�
• ��	�� ����=�+�Filezilla��Iexplorer��Firefox��Konqueror��ncftp��ftp�
�

## Dovecot 1.0 configuration file 
 
# '#' character and everything after it is treated as comments. Extra spaces 
# and tabs are ignored. If you want to use either of these explicitly, put the 
# value inside quotes, eg.: key = "# char and trailing whitespace  " 
 
# Default values are shown after each value, it's not required to uncomment 
# any of the lines. Exception to this are paths, they're just examples 
# with real defaults being based on configure options. The paths listed here 
# are for configure --prefix=/usr --sysconfdir=/etc --localstatedir=/var 
# --with-ssldir=/etc/ssl 
 
# Base directory where to store runtime data. 
#base_dir = /var/run/dovecot/ 
 
# Protocols we want to be serving: 
#  imap imaps pop3 pop3s 
protocols = imap imaps pop3 pop3s 
 
# IP or host address where to listen in for connections. It's not currently 
# possible to specify multiple addresses. "*" listens in all IPv4 interfaces. 
# "[::]" listens in all IPv6 interfaces, but may also listen in all IPv4 
# interfaces depending on the operating system. You can specify ports with 
# "host:port", although with multiple protocols you probably want to move this 
# setting inside protocol imap/pop3 { ... } section, so you can specify 
# different ports for IMAP/POP3. 
#listen = * 
listen = [::] 
 
# IP or host address where to listen in for SSL connections. Defaults 
# to above if not specified. 
#ssl_listen = 
 
00000��C������ ������:	�;�������;���������	
����������� 	:	������<������������������ �� 	���	
��������D0�
�
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• ��!�"������+�Iexplorer��Firefox��Konqueror��Mozilla�
�
• ��	�� ��� ��� ������+� Outlook�� Thunderbird�� Kmail�� Evolution��

Messenger�CMozillaD�
� ��
• �
�������� ��� !	���+� VLC� C;  $+##EEE0!	������0��"D�� Windows Media 

Server 9 

�
• �	������:�����	�+�VIC/RAT, gnomeeting�
�
• SNMP+� ����� ��� "�� 	
�� ��� ���� �8�	$��� ��� �����	���	�� �� C�
�
��	D0�Net-

snmp�C!������8��������$�� ������
���$���	��D�
�
�

>0�0�0>0 ���$ ��	
������$�	���	�����C 
�
���D�
�

7�� �����8���������$ ��	
�������: E����� �� ��������!	����������������	�� �������
���$����������� 	!���� �� ����	����<����9�	��0������� �� ���8������$�� ����� ����� ������
8������:9�	��;�����8��������$�	���	
��3�!@� ��2	���:���	�������3�!40�
	����2��"����	�
8�	�	�������;����������������:���	����	�������!�����������3�!4��������$�	���	
�����B��
�������	�� ������	2	����  ��	����� 3�!4� ��� ��� �0� C5�
� ��� � 	8�� ��� ��� :��-��������	
��
��!	�	��������
��
����D���
�

���;  $+##EEE0���$�$���40�� #����#	$!4[� � ��[$�"�[�$$�0; ����������"������
�A ������	� ������$�	���	�����<����"����������$�� �����3�!40�
�
�

>0�0>0 ���2�������� �� �����<������	�����
�

���8������ �����<��B����� ���� ����������	������� ���� �$�	���	�����:������� �����
 ��B��� ��� ��$�� �� 29�	��� $���� 3�!4�� ��� ;��� �� �� ���� �	!������ $��2������ ��� �	�;���
�$�	���	�����8�������� ����������� 	����	
�+�
�

• Sendmail�7!���������(589�
�


�� $����� ����� FEATURE(`msp', `[127.0.0.1]')� ��� submit.mc� $����
�!	 ���$��2��������������������	
��������2������localhost����������$�����
�����!����� ����� %�&0�0�0%� C�� ++%� ��� 3�!4D0� 
	� ������� �� 8�������� �����
3�!4��� ��������2��B����������FEATURE (`msp', `[IPv6:::1]').�

�
G ���$��2�������<������������������B��	�������sendmail������������;�<�
8���  �� ��� ���� ���!	������ ��� ���2��� �����$ ��� 8��� 	"������ ���� �����-���
SERVFAIL������������!��� ���$������DNS���� ����$� 	�	��������  	$��T_AAAA�
C3�!4D0�I�������	
������ �����:	-���

�
ResolverOptions=WorkAroundBrokenAAAA 

�
�

• DNS�7�����B(�89�
�
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H����������$����	��	�������� �� ��������������	����	����	�� ��3�!4����8���
���DNS� ��!���!�����$�	����� 	�� ���	���	����	�����3�!4���� ��� ��������8���
��2��� ��$������ �� ��� �	�$��	2���0� ��B�� $���� ��� ���2��� ��� �98�	���
ejemplo.cesga.es�� 8���  ��"�� �	����	
�� 3�!@� <� �	����	
�� 3�!4�� ��� 7�
�
��!��!��9����������$���	�� ���	����	
��3�!40�

�
�

• '�	������(������7VLC89��
�

�� �� ��: E����;�� �� ���!���	
���0&0��������;�2��$�����:�� �� ���� �����	���
SAP� ��� ��	�	��������
���	
� ��� ��� �	����	
�� ::�1++�+&::�� C�� �� ��� ���� ���
9�2	 �� �� S	�
 �T� ��� 1D�� ���� ��� 8��� ��� ���� ���� $���2��� 	�	�	����� ����
�����	��� ��� ��	�	����� ���
���	
� ��� 3�!4� ��� ��� ���	2B��0� H��� !���
�� �� ����� �A	� �� ���� �$�	
�� $���� $����� :	-��� ��� 9�2	 ��� ���� ��� 8��� ����
�����	�������������	��������
���	
���� 	�����$��2������

�
vlc –extraintf sap –sap-ipv6 –sap-ipv6-scope “e”� � � ��
C�����;��������::��++�+&::�D�

��
�

>0�0@0 �����	��������������� ��0�
�

�����
����	�$��������8�	$��	�� ����<����� ����� 	���	����<�����$ ��	
����
3�!4��������	��� �0���B���������� ����������8���������$��	2����� ���	���������: E����C��
�B�����;�<D�$����8�����$�� ���3�!4���������	"�	�� ����8�	$��+�
�

• MCU+�Radvision MCU-323�
• *�
����+�Radvision GW-323�
• Polycom ViaVideo��C!��	�������������SP128��MP��FXD�
• 
��!	��������
��������Minerva�
• �8�	$��	�� ��I���C������$��	2������:	"������	����	�����3�!4��������$��$	���

�8�	$���$�������"�� 	
�D0�
�
�

7	�;���8�	$��	�� �� ����9�8�����"�	������������$�� ������3$!@�����8��;�����
 �������������� ������������� ������	��'�������	"���	
�����������0�
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����� ��� 	�$��� ��	
������ $�� ������3�!4����
�	!������ $�� �:������ <� �8�	$��	�� ��� ������	������� -�� �� ���� � ���� �A	� �� ��� ��� ���
�������0� �� �� $	�� �� ��2B�� $��$���	������ ����9��� ��� :���	����	���� �������	�� $���� ���
 �� ��� ��� �	� ����� 	���9�2�	���� ���� �����	����� ��� ���	���� ��� ���!	�	�� <� $���� ���
����	���	
�� ��� $���2��� ��� 	� �"���	
�� ���� ������ ����$���� <� ����
�
���� 3�!4� �� �	!���
����$��0�

�
���� ���:	���	���������� 
���������$	�� ��3�!4�8�������� �2�������
����������

7�$�� ���� �� ��� 3�"��	��B�� =����9 	��� ��� ��� H�	!���	���� ��� �	"�� ��  ��!��� ��� ���
	�:���� ��� ������ ���0��� ��$	�� ��$���	 	
����"J�����$��!	� �+�

�
• ����	���� ��� $��2���9 	��� ��� 	�$��� ��	
�� ��� 3�!4� <� ��� ���� :���	�����

�����	 �����2����� �0�
• �� ��	������	� �������	
���A	� �� ���� ���3�!4�<����� ������"B���������		0�
• �� ��	��� ��� ���$�� ��	�� �� ��� �� ���	������ �$�	���	����� ��2��� �� ���

 ������"B��� C ������:�����	�� $���� �����	��� �
!	�����  �����	�	�����
���
���	
��  ��2�-��� ��� �	� ����� ���� ��� ��  ��!������ ��	�� ��� 	���9�2�	����
����"���� B��������	����������!	�	���� �0�

�

�� ����	������ <� $��2����� ���� ����� ��B� 	����  ���	���� ���� �	� ���� ������		��

$��� �������$��	���� ���	
����������:���� ��������!��	��	
��������;�����2������	�$��	2����
 �� ����� �����	�	����������	
���������
���	
0��
�

�������������	
������$�� � 	$�����������	��
�����$�� �:�����8���$���	 	�������!	��
!	���������	:���� ������	���������:	�������� ���������5�
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